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General Instruction 
lkekU; funsZ’k %lkekU; funsZ’k %lkekU; funsZ’k %lkekU; funsZ’k %    

(i) All questions are Compulsory. 

lHkh Á’u vfuok;Z gSaA  
(ii) Question Nos. 1 to 8 are Multiple Choice type which carry 1 mark each. 

Á’u la[;k 1 ls 8 rd cgqfodYih; Á’u gSa ftldk ÁR;sd dk 
eku 1 vad gSA  

(iii) Question Nos. 9 to 15 are Very Short Answer type which carry 1 mark each. 

Á’u la[;k 9 ls 15 rd vfr y?kq mÙkjh; Á’u gSa ftudk ÁR;sd 
dk eku 1 vad gSA  

(iv) Question Nos. 16 to 23 are short Answer – I type which carry 2 marks each. 

Á’u la[;k 16 ls 23 rd y?kq mÙkjh; & I Á’u gSa ftudk ÁR;sd 
dk eku 2 vad gSA  

(v) Question Nos. 24 to 31 are short Answer – II type which carry 3 marks each. 

Á’u la[;k 24 ls 31 rd y?kq mÙkjh; & II Á’u gSa ftudk ÁR;sd 
dk eku 3 vad gSA  

(vi) Question Nos. 32 to 34 are Long Answer type which carry 5 marks each.  

Á’u la[;k 32 ls 34 rd nh?kZ mÙkjh; Á’u gSa ftudk ÁR;sd dk 
eku 5 vad gSA  
 

(Multiple Choice Type Questions) 

¼cgqfodYih; Á’u½¼cgqfodYih; Á’u½¼cgqfodYih; Á’u½¼cgqfodYih; Á’u½    
    

1. In a cubic crystal system, axial angles α = β = γ are  

(a) equal to 90
0
  (b) less than 90

0
 

(c) greater than 90
0
  (d) None of these  

?kuh; fØLVy ra= esa v{kh; dks.k] α = β = γ gksrs gSa  
(a) 90

0
 ds cjkcj  (b) 90

0
 ls de 

(c) 90
0
 ls cM+k   (d) buesa ls dksÃ ughaA  

2. An example of first order reaction is  

(a) 2 HI                  H2 + I2  (b) NH4NO2                     N2 + 2H2O 

(c) 2 NO + O2              2 NO2  (d) None of these. 

ÁFke dksfV vfHkfØ;k dk mnkgj.k gS  
(a) 2 HI                  H2 + I2  (b) NH4NO2                     N2 + 2H2O 

(c) 2 NO + O2              2 NO2  (d) buesa ls dksÃ ughaA  
 
           dry acetone 

3. CH3Br + NaI    CH3I + NaBr 

The reaction is  

(a) Sandmeyer reaction   (b) Finkelstein reaction  

(c) Gatterman reaction  (d) None of these  

 



 

                           'kq"d ,lhVksu 
CH3Br + NaI    CH3I + NaBr 

vfHkfØ;k gS  
(a) lSUMek;j vfHkfØ;k  (b) fQadsYLVkbu vfHkfØ;k  

(c) xkVjeku vfHkfØ;k   (d) buesa ls dksÃ ughaA  
 

4. Bauxite is an ore of  

(a) Fe   (b) Al 

(c) Cu    (d) Zn  

ckWDlkbV v;Ld gS  
(a) Fe dk  (b) Al dk 
(c) Cu  dk  (d) Zn dk 
 

                                                    Boil 

5. Ethyl bromide   +  KOH (aq.)                     A 

‘A’ is  

(a) Ethyl alcohol   (b) Ethylene  

(c) Propyl alcohol   (d) none of these.  

                                                     

                                                          Boil 

,fFky czksekbM +  KOH (aq.)                     A 

‘A’ gS  
(a) ,fFky ,sYdksgkWy  (b) bFkhyhu  

(c) Áksfiy ,sYdksgkWy   (d) buesa ls dksÃ ughaA  
 
                          Cu/573K 

6. Ethyl alcohol                         A 

‘A’ is  

(a) Acetaldehyde  (b) Propionaldehyde 

(c) Acetone    (d) None of these  

                                       Cu/573K 

,fFky ,sYdksgkWy          A 

‘A’ gS  
(a) ,lhVfYMgkbM  (b) Áksfi;ksufYMgkbM 

(c) ,lhVksu    (d) buesa ls dksÃ ughaA  
 

7. Galactose is an example of  

(a) Aldohexoses   (b) Aldopentoses 

(c) Aldotetroses   (d) none of these. 

xSysDVksl ,d mnkgj.k gS  
(a) ,sYMksgSDlkst  (b) ,YMksisUVksl  

(c) ,sYMksVsVªksl   (d) buesa ls dksÃ ughaA  
 
                                               H

+
 or OH

-
 

8. Methyl cyanide   +  2H2O                              A 

‘A’ is  

(a) Butyric acid   (b) Acetic acid  

(c) Propionic acid   (d) none of these. 

                                                       H
+
 or OH

-
 

esfFky lk;ukbM +  2H2O                              A 

‘A’ gS  
 



(a) C;wVkbfjd vEy  (b) ,slhfVd vEy  

(c) ÁksfivkWfud vEy  (d) buesa ls dksÃ ughaA  
 

(Very Short Answer Type Questions) 

¼vfr y?kq mÙkjh; Á’u½¼vfr y?kq mÙkjh; Á’u½¼vfr y?kq mÙkjh; Á’u½¼vfr y?kq mÙkjh; Á’u½ 
 

9. Write the rate of the reaction,  

3A               2B   +   C 

vfHkfØ;k] 3A               2B   +   C  dk osx fy[ksaA  
    

10. Write  the Source of Vitamin A. 

foVkfeu A dk L=ksr fyf[k,A  
 

11. Write dispersed phase and dispersion medium of Paints, a colloidal Solution. 

isaV] ,d dksykWbMh foy;u dk ifjf{kIr ÁkoLFkk rFkk ifj{ksi.k ek/;e 
fy[ksaA  
 

12. Which Polymer is prepared by the monomer, Propene ? 

,dyd] Áksihu }kjk dkSu&lk ikWfyej cuk;k tkrk gS\ 
 

13. Write IUPAC name of (CH3)2CH CH(Cl)CH3. 

(CH3)2CH CH(Cl)CH3 dk vkÃ0;w0ih0,0lh0 uke fy[ksaA  
 

14. What is the three letter symbol of the amino acid, Glycine? 

Xykblhu] ,ehuks vEy dk rhu&v{kj Árhd D;k gS\ 
 

15. Give an example of Tranquillizers. 

Á’kkard dk ,d mnkgj.k nsaA  
 

(Short Answer-I Type Questions) 

¼y?kq mÙkjh; & ¼y?kq mÙkjh; & ¼y?kq mÙkjh; & ¼y?kq mÙkjh; & I Á’u½Á’u½Á’u½Á’u½    
 

16. What is salt bridge? Mention its functions. 

yo.k lsrq D;k gS\ blds dk;ksZa dk mYys[k djsaA  
 

17. Why Cryolite or Fluorspar are mixed with pure alumina during electrolysis ? 

oS|qr vi?kVu ds nkSjku 'kq) ,syqfeuk esa Øk;ksykbV ;k ¶yksjLikj D;ksa 
fefJr fd, tkrs gSa\ 
 

18. What happens when  

(a) Methyl bromide is treated with sodium in presence of dry ether ? 

(b) Ethyl chloride is treated with C2H5ONa ? 

D;k gksrk gS tc  
(a) 'kq"d ÃFkj dh mifLFkfr esa esfFky DyksjkbM dh vfHkfØ;k lksfM;e 
ls gksrh gS\ 

(b) ,fFky DyksjkbM dh vfHkfØ;k C2H5ONa ls gksrh gS\ 

 

19. Give reason for the following : 

(a) Transition metals form a large number of complex compounds.  

(b) Complexes of transition metals are generally paramagnetic.  

fuEufyf[kr ds dkj.k crk;sa % 
(a) laØe.k /kkrq dkQh la[;k esa tfVy ;kSfxd cukrs gSaA  

(b) laØe.k /kkrq ds tfVy ;kSfxd Ák;% vuqpqEcdh; gksrs gSaA  



 

20. Complete the following : 

(a) Xe (g)   +  PtF6 (g)   

(b) XeF4 (g)  +   2H2  

fuEufyf[kr dks iwjk djsa % 
(a) Xe (g)   +  PtF6 (g)   

(b) XeF4 (g)  +   2H2  

 
21. What are the different types of RNA found in the cell ? 

dksf'kdk esa ik;s tkus okys fofHkUu Ádkj ds RNA dkSu&ls gSa\ 
 

22. What is biodegradable Polymer ? Give an example of biodegradable Polymer. 

tSo fuEuuh; cgqyd D;k gS\ ,d tSo fuEuuh; cgqyd dk mnkgj.k 
nhft,A  
 

23. How are synthetic detergents better than soaps ? 

lkcqu dh rqyuk esa la’ysf"kr viektZd fdl Ádkj ls Js"B gSa\ 
 

(Short Answer – II Type Questions) 

¼y?kq mÙkjh; & ¼y?kq mÙkjh; & ¼y?kq mÙkjh; & ¼y?kq mÙkjh; & II Á’u½Á’u½Á’u½Á’u½    
 

24. An element A crystallises in Fcc structure. 200g of this element has 4.12 X 10
24

 atoms. If 

the density of A is 7.2 g cm
-3

. Calculate the edge length of the unit cell. 

A uked ,d rRo Fcc lajpuk esa fØLVyhÑr gksrk gSA bl rRo ds 
200g esa 4.12 X 10

24
 ijek.kq gksrs gSaA ;fn A dk ?kuRo 7.2 g cm

-3
 gks rks 

,dd dksf"Vdk ds dksj dh yEckÃ dh x.kuk dhft,A  
 

25. Write three factors influencing the rate of reaction.  

vfHkfØ;k ds osx dks ÁHkkfor djus okys rhu dkjdksa dks fy[ksaA  
 

26. Compare the properties of Physisorption and chemisorptions.  

HkkSfrd vf/k’kks"k.k ,oa jklk;fud vf/k’kks"k.k ds xq.kksa dh rqyuk djsaA  
 

27. How will you bring about the following transformations ? 

(a) Ethanamine to Ethanol 

(b) Phenol to Aniline 

(c) Diethyl ether to Ethanol  

fuEufyf[kr ifjoÙkZu vki dSls djsaxs\ 
(a) ,Fksukekbu ls ,FksukWy  

(b) Qsuky ls ,uhyhu  

(c) MkÃ ,fFky ÃFkj ls ,FksukWy  

 

28. Explain any two of the following with example : 

(a) Ligand 

(b) Co-ordination sphere  

(c) Co-ordination number 

fuEufyf[kr esa ls fdUgha nks dk lmnkgj.k O;k[;k djsa % 
(a) fyxsaM 

(b) milgla;kstu e.My  

(c) milgla;kstu la[;k  

 
 
 



 

29. What is difference between e.m.f and Potential difference ? 

Ã0,e0,Q0 ,oa foHkokarj esa D;k varj gS\ 
 

30. Predict the Product : 

(a) CH3OH   +   Pcl5  

 

                                        H2O/H
+
 

(b) CH3 – CH = CH2 

 

                                   COOH                   SOcl2 

(c)                                  COOH 

                                                            Heat 

 

mRikn crkb, % 
 
(a) CH3OH   +   Pcl5  

 

                                        H2O/H
+
 

(b) CH3 – CH = CH2 

 

                                   COOH                   SOcl2 

(c)                                  COOH 

                                                            xeZ  
 
 

31. Complete the following reaction : 

 

(a) I2  +  NaclO3  

 

                       P4O10 

(b) HNO3   

                             Heat 

 

 

(c) Scl2   +   NaF   

 

fuEufyf[kr vfHkfØ;kvksa dks iwjk djsa % 
 

(a) I2  +  NaclO3  

 

                       P4O10 

(b) HNO3   

          xeZ 
 

 

(c) Scl2   +   NaF   

 

 
 

 

 

 

 



(Long Answer Type Questions) 

¼nh?kZ mÙkjh; Á’u½¼nh?kZ mÙkjh; Á’u½¼nh?kZ mÙkjh; Á’u½¼nh?kZ mÙkjh; Á’u½ 
 

32. Boiling point of water at 750mm Hg is 99.63
0
C. How much sucrose is to be added to 

500g of water so that it may boil at 100
0
C ? (Kb for water = 0.52 K kg mol

-1
). 

750mm Hg ds nkc ij ty dk DoFkukad 99.63
0
C gSA 500g ty esa fdruk 

lqØksl feyk;k tk,] fd bldk 100
0
C ij DoFku gks tk,\ ¼ty ds 

fy, Kb = 0.52 K kg mol
-1½ 

OR/vFkokvFkokvFkokvFkok    
A first order reaction is 20% complete in 10 minutes. Calculate the time for completion 

of 75% of the reaction.  
4 0.6021

log1.25 0.0969

log =

=


 
 

 

,d ÁFke dksfV dh vfHkfØ;k 10 feuV esa 20% iw.kZ gksrh gSA 
vfHkfØ;k ds 75% iw.kZ gksus esa yxs le; dh x.kuk dhft,A  

fn;k gqvk gS fd 
4 0.6021

log1.25 0.0969

log =

=


 
 

 

 
33. Give the Principle involved in manufacture of Sulphuric acid by contact Process. How 

does hot and concentrated H2SO4 react with (i) Cu  and   (ii) S. 

lEidZ fof/k ls lY¶;wfjd vEy ds mRiknu esa fufgr fl)kar dks 
fy[ksaA xeZ rFkk lkaæ H2SO4 (i) Cu  rFkk   (ii) S ds lkFk fdl Ádkj 
vfHkfØ;k djrk gS\ 

OR/vFkokvFkokvFkokvFkok    
Discuss the general characteristics of group 15 elements with reference to (i) oxidation 

state, (ii) ionization enthalpy and (iii) electron gain enthalpy.  

oxZ 15 ds rRoksa ds lkekU; xq.k/keksZa dks muds ¼i½ vkDlhdj.k 
voLFkk] ¼ii½ vk;uu ,UFkSYih ,oa ¼iii½ bysDVªkWu ÁkfIr ,UFkSYih ds lanHkZ 
esa foospuk djsaA  
 

34. Write short notes on the following : 

(a) Friedel – Crafts reaction  

(b) Carbylamine reaction 

(c) Etard reaction  

fuEufyf[kr ij laf{kIr fVIi.kh fy[ksa % 
¼a½ ÝhMsy Øk¶V vfHkfØ;k 
¼b½ dkÆcy ,sehu vfHkfØ;k  
¼c½ ÃVkMZ vfHkfØ;k  
 

OR/vFkokvFkokvFkokvFkok    
 

Identify ‘X’, ‘Y’ and ‘Z’ in the following : 

                 NH2 

 

(a)           NaNO2/HCl                                     H2O 
                            ‘X’                                ‘Y’ 

                                                O
0
C                                            Heat 

 

 

 

                                      aq. KOH                                 Cu/573K 

(b) C2H5Br                                              ‘X’                                      ‘Y’ 

 



 

              CH2cl 

 

(c)                                        KCN (alc.) 

                                                                                           ‘Z’ 

 

 

 

 

fuEufyf[kr esa ls ‘X’, ‘Y’ rFkk ‘Z’ dks igpkusa % 
 
 
                  NH2 

 

(a)           NaNO2/HCl                                     H2O 
                            ‘X’                                ‘Y’ 

                                                O
0
C                                            xeZ 

 

 

 

                                      aq. KOH                                 Cu/573K 

(b) C2H5Br                                              ‘X’                                      ‘Y’ 

 

 

             CH2cl 

 

(c)                                        KCN (alc.) 

                                                                                           ‘Z’ 

    
             

    

 
    
             

    


